
(λ = 0, α = 0.072, df = 4, n = 1000, m = 933)

LRP

D
en

si
ty

0 5 10 15 20

0.
00

0.
05

0.
10

0.
15

(λ = 1, α = 0.038, df = 2.87, n = 1000, m = 943)

LRP

D
en

si
ty

0 5 10 15

0.
00

0.
10

0.
20

(λ = 5, α = 0.023, df = 1.9, n = 1000, m = 938)

LRP

D
en

si
ty

0 2 4 6 8 10 12

0.
0

0.
1

0.
2

0.
3

0.
4

(λ = 10, α = 0.038, df = 1.56, n = 1000, m = 942)

LRP

D
en

si
ty

0 2 4 6 8 10 12

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5

(λ = 50, α = 0.054, df = 1.14, n = 1000, m = 956)

LRP

D
en

si
ty

0 2 4 6 8 10 12 14

0.
0

0.
2

0.
4

0.
6

0.
8

(λ = 0, α = 0.062, df = 4, n = 1000, m = 997)

LRP

D
en

si
ty

0 5 10 15

0.
00

0.
05

0.
10

0.
15

(λ = 1, α = 0.051, df = 3.13, n = 1000, m = 994)

LRP

D
en

si
ty

0 5 10 15

0.
00

0.
10

0.
20

(λ = 5, α = 0.035, df = 2.27, n = 1000, m = 998)

LRP

D
en

si
ty

0 5 10 15

0.
00

0.
10

0.
20

(λ = 10, α = 0.039, df = 1.89, n = 1000, m = 1000)

LRP

D
en

si
ty

0 5 10 15

0.
00

0.
10

0.
20

0.
30

(λ = 50, α = 0.048, df = 1.27, n = 1000, m = 999)

LRP

D
en

si
ty

0 5 10 15 20

0.
0

0.
2

0.
4

0.
6

(λ = 0, α = 0.051, df = 4, n = 1000, m = 1000)

LRP

D
en

si
ty

0 5 10 15 20

0.
00

0.
05

0.
10

0.
15

(λ = 1, α = 0.049, df = 3.55, n = 1000, m = 1000)

LRP

D
en

si
ty

0 5 10 15 20 25

0.
00

0.
05

0.
10

0.
15

0.
20

(λ = 5, α = 0.033, df = 2.77, n = 1000, m = 1000)

LRP

D
en

si
ty

0 5 10 15 20 25

0.
00

0.
10

0.
20

(λ = 10, α = 0.038, df = 2.35, n = 1000, m = 1000)

LRP

D
en

si
ty

0 2 4 6 8 10 12 14

0.
00

0.
10

0.
20

0.
30

(λ = 50, α = 0.039, df = 1.5, n = 1000, m = 1000)

LRP

D
en

si
ty

0 2 4 6 8 10

0.
0

0.
1

0.
2

0.
3

0.
4

0.
5


